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Ch-2 Addition and Subtraction 

Q1. Solve the following word problems:- 

   i. The construction cost of building-A was Rs. 5,45,678 and that of building-B was Rs. 6,67,567. Find the 

total construction cost of both the buildings. 

 

 

 

 

 

 

 

 

 

  ii. Find the difference between the smallest 5-digit number and the greatest 4-digit number. 

 

 

 

 

 

 

  iii. How much is 34,567 less than 1,45,678? 

 

 

 

 

 

 

  iv. By how much is 7,89,456 greater than 5,45,789? 

 

 

 

 

 

  v. Raj earned Rs. 50,000 in a month. How much did it saved if it spend Rs. 42,678 at the end of the month? 

 

 

 

 

 

 



Q2. Estimate the sum or difference by rounding off each number. Also find the sum:- 

  i. 345 + 789 

 

 

 

 

 

 

 

  ii. 4567 + 2345 

 

 

 

 

 

 

 

 

 

  iii. 45678 – 23678 

 

 

 

 

 

 

 iv. 56789 + 34567 

   

   

 

 

 

 

 

 

Q3. Subtract the sum of 34,567 and 23,678 from 7,78,567 

 

 

 

 

 

 

 

 


